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Fill in the boxes.

[ AJ
6add 2 = 1 and 8 make [: 2 and 8 together
3add 3 = ,: 4 and 3 make 7 and 0 together :
Sadd 4 = ] 8 and 1 make]: 4 and 5 together :
7 add 3 = j 3 and 5 make 1 and 6 together ]
2add 4 = 6 and 4 makez S5and 5 togetherI:
0
What is 6 and 8 altogether? 8 more than 3| |
The total of 13 and 3 is :] 4 more than 15
9 and 9 equals [:j 10 more than 6 L
Altogether 5 and 6 make :] 3 more than 14
What is 7 add 3? ': 12 more than 8
11 and 4 have a total of E 5 more than 13 [:
[/
5,7and 9 makeE 8 plus 13
The sum of 24 and 7 is [: 25 plus 10

19 is 6 greater than D

The total of 17, 5 and 10 is l:]
Add 20,30and 40.[
20 more than 15 is ’:

Tapluso[
40 plus 60 :]

11 plus 11

8 plus 16




